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Sports Multiplication ¢

Solve the following word problems.

A baseball bat costs $12.50. If a sports store orders
100 bats, how much will the total cost be?

A football weighs 0.430 kilograms. If a sports
goods factory produces 1000 footballs, what would
be the total weight?

A swimmer can swim 0.3 miles in a minute. How far
can he swim in 10 minutes?

A sports drink costs $1.25. If a gym buys 100 drinks
for its members, how much will it cost?

A tennis ball weighs 0.058 kilograms. If a sports
goods store orders 1000 tennis balls, what would
be the total weight?

A soccer ball costs $22.50. If a school buys 10
soccer balls for its teams, how much will the total
cost be?

A hockey stick costs $35.75. If a sports club orders
100 hockey sticks, how much will the total cost be?

A runner runs 0.4 miles per minute. How many
miles will he run after 100 minutes?

A pair of sports shoes costs $45.50. If a sports
store orders 100 pairs of shoes, how much will the
total cost be?
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